4.02.01

02/2002.A

nM=P>r-vwcn

Page
70

Lynch MANIFOLDS & VALVE PACKS

D03 Subplate - Nominal 1/4"” & 3/8”

SPXX_03GSPSCUAA SPXX_03GBPSCUAA
(SPXX_03GSPSBUAA) @ (SPXX_03GBPSBUAA)
3.00 e —| _’l— 3.00
250 |25
' O WHMJ‘;EO-XXdS m I T o YYNISAEIED~XXdS
3.00 © [
@ Wy © OOO @ 3.00 (-] OOO
T . J_ 2.75
150 | 7| e T °@® 3[.25w 1'4(; o eo 3| 25
| - v [ p ot i | o+
.62 I—Eo w [ -F |:1.5o - T
2.75wp 2.75
D03
PTBA b
UNC Mounting KIT includes: T
$—' | A SP=1.25 @ 2-1/4"-20 x 1.75"SHCS 1.25
B SB/ST=1.50 Metric Mounting KIT includes: 1
1 2 -M6-1.0 x 45mm SHCS
BOTTOM VIEW 225
SPXX_03GSBSCUAA l—1.50 l’
(SPXX_03GSBSBUAA) }=-1.50 ~| 75 [
' [e) UNC Mounting KIT includes: ' 59 | | O
| 81 N 2-1/4"-20 x 2.00"SHCS e o
D03 2197 e ol . _ 2.41 7
PTBA 3.00 | etric Mounting KIT includes:
2 -M6-1.0 x 50mm SHCS
$—} | l—é typ—l—— - 2 -Plugs J e
1 | 0 o
PT
BOTTOM VIEW D03
SPXX_03GSTSCUAA P T B A
(SPXX_03GSTSBUAA) 1504 . . I R s A B
[@) UNC Mounting KIT includes: i_ _i
2-1/4"-20 x 2.00"SHCS - P-_-T - B-_-A -
D03 2.19 Metric Mounting KIT includes:
PTBA St.OOJ_ 2-M6-1.0 x 50mm SHCS UNC Mounting KIT includes:
yP N 2 -1/4"-20 x 1.75"SHCS
$ — - é I o S - 3/8" ':fTF Port for all *C Port Codes Metric Moun);ing KIT includes:
2 -M6-1.0 x 45i HCS
T 1/4" NPTF Port for all *B Port Codes x 45mm §
PART NUMBER SYSTEM Aluminum D03 Side Ported Subplate with SAE 6 Ports Example: SPXXA03GSPSCUAA

MATERIAL

VALVE
PATTERN

PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

IO @ Subplate

.M Aluminum

Dl Ductile Iron

=14 Bottom Ported Only

Side Ported with
Bottom P & T Ports

UNC Std for | D03 Valve |10-24 UNC x .63 dp
SAE & NPT | Subplate |1/4"-20 UNC SHCS
Metric Std for | D03 Valve |M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M6 x 1.00 SHCS

Side Ported only

Side Ported with
3/8" NPTF "T" Port
on Bottom only *

1ISO 4401-03-02
NFPA T3.5.1-D03

* Note for 1/4" Port Codes SAE SAE
1/4" NPTF "T" Port on NPTF 1/4" OR NPTF 3/8"
Bottom Only BSPP 1/4" BSPP 3/8"
BSPT 1/4" BSPT 3/8"
METRIC | M10 METRIC | M14

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

CANADIAN
FLUID

POWER
ASSOCIATION

ASIOCIATION CANADIENNE DENERGE FLUDE

Lynch Products Can Be Modified to Suit Your Application
neea £

Solutions through — 4
motion technology
® Sy Pt Fower g Mot Techmotay Dismoukars

MEMBER




4.02.02
Lyllch MANIFOLDS & VALVE PACKS [l

D03 Subplate - Nominal 1/2"

SPXX_03GSPSDUAA SPXX_03GBPSDUAA

3.50
_—I— 3.00 typ —I ——I j=—.25 10
=25 N O wwaasaserixas

[e) 1
YYNASASIED™XXdS M| °
°© ° 3.50 ® o
o - oo
O O 3.25 o
o Oop z|25w i ] L °® | 25
L | s 1.34 »
P o i o
1.50 typ f=— I 1.75 — f
2.75 wp 3.25
D03 ‘
PTBA UNC Mounting KIT includes: -f_
p—J | | A SP=1.38 ) 2-1/4"-20 x 2.00"SHCS 150
T B SB/ST=2.00 Metric Mounting KIT includes: :
f 2-M6-1.0 x 50mm SHCS
BOTTOM VIEW
SPXX_03GSBSDUAA
UNC Mounting KIT includes: S
2-1/4"-20 x 2.50"SHCS u
2 -Plugs B
Do3 3.00 Metric Mounting KIT includes:
PTBA " 2 -M6-1.0 x 60mm SHCS P
P _} | LA 2-Plugs L
TS B | A
P T T
E
BOTTOM VIEW S
SPXX_03GSTSDUAA I~ 1.50 ~|
[e) UNC Mounting KIT includes:
2-1/4"-20 x 2.50"SHCS
D03 2.19 Metric Mounting KIT includes:
PTBA 3.00 2-M6-1.0 x 60mm SHCS UNC Mounting KIT includes:
e R 2 -1/4"-20 x 2.00"SHCS
s — L5 A l = . Metric Mounting KIT includes:
o — 1/2" NPTF Port 2 -M6-1.0 x 50mm SHCS
T
PART NUMBER SYSTEM Aluminum DO3 Side Ported Subplate with SAE 8 Ports Example: SPXXA03GSPSDUAA

MATERIAL PX:'IITI\EIFE(N PORTING STYLE | PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

Bl @ Subplate Bottom Ported Only

Side Ported with
Bottom P & T Ports

UNC Std for | D03 Valve |10-24 UNC x .63 dp
SAE & NPT | Subplate |1/4"-20 UNC SHCS
Metric Std for | D03 Valve |M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M6 x 1.00 SHCS

Side Ported only

Side Ported with
1/2" NPTF "T" Port
on Bottom only

.M Aluminum

Dl Ductile Iron

SAE
1ISO 4401-03-02 NPTF 1/2"
NFPA T3.5.1-D03 BSPP 12"
BSPT 12"
METRIC | M18

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application

CANADIAN
FLUID NFPA
POWER Solutions through
ASSOCI:TION 7 motion technology Thre Fusiuse lin Motion, P; ie

ASIOCIATION CANADENNE DENERGE FLUDE MEMBER




4.02.03
Lynch MANIFOLDS & VALVE PACKS

D03 Subplate - Nominal 3/4"

SPXX_03GSPSFUAA SPXX_03GBPSFUAA
|/ ' 5.00 '
—~f .38 |
__i — 3841;20 we f T O VN 1SIEDED™XXdS
L
1 O VYN4SASDEDXXAS .
400 o 5.00 e ©
. [}
N e e e o/ T =
2.00 T777e (e
" 1.59 | z 2.09 =z
o & > b} ;]
‘ _L ;p P O 38 typ l O _L
-_f —
2.00 vp =} 1—— 2.50 t
.88 typ 3.62 tye | 463 !
D03 i UNC Mounting KIT includes:
PTBA SP=1.75 2 -3/8"-16 x 2.50"SHCS
P 1 | | L A SB/ST=2.50 uy Metric Mounting KIT includes:
T B 2 -M10-1.5 x 60mm SHCS
BOTTOM VIEW
SPXX_03GSBSFUAA ) UNC Mounting KIT includes:
1.13 2 -3/8"-16 x 3.00"SHCS
1 2 -Plugs
S 2.88 Metric Mounting KIT includes:
U 2 -M10-1.5 x 75mm SHCS
B D03 4.00 2 -Plugs
P P TBA R E—
L
P A
L| | s=24 L
A 1
T P T
E BOTTOM VIEW 2,00 =}
S SPXX_03GSTSFUAA i O UNC Mounting KIT includes:
2 -3/8"-16 x 3.00"SHCS
Metric Mounting KIT includes:
2.88 2-M10-1.5 x 75mm SHCS
D03 4.00 UNC Mounting KIT includes:
P TBA typ 2 -3/8"-16 x 2.50"SHCS
p i | LA Metric Mounting KIT includes:
T B @) S~ 3/4" NPTF Port 2 -M10-1.5 x 60mm SHCS
T
PART NUMBER SYSTEM Aluminum D03 Side Ported Subplate with SAE 12 Ports Example: SPXXA03GSPSFUAA

VALVE
MATERIAL PATTERN PORTING STYLE

PORT CODE MOUNTING THREADS & KIT PILOT PORT OPTIONS

UNC Std for | D03 Valve |10-24 UNC x .63 dp
SAE & NPT Subplate [3/8"-16 UNC SHCS
Metric Std for | DO3 Valve |[M5 x 0.80 x .63 dp
BSP* & Metric | Subplate |M10 x 1.50 SHCS

=14 Bottom Ported Only

Side Ported with
Bottom P & T Ports

Subplate

Side Ported only

Side Ported with
B3N 3/4" NPTF "T" Port
on Bottom only

.M Aluminum
PN Ductile Iron

SAE
ISO 4401-03-02 NPTF 3/4"
NFPA T3.5.1-D03 BSPP 3/4"
BSPT 3/4"
METRIC | M27

WE RESERVE THE RIGHT TO DISCONTINUE MODELS, OR CHANGE SPECIFICATIONS WITHOUT NOTICE OR INCURRING OBLIGATION

Lynch Products Can Be Modified to Suit Your Application
Y 7 =/

CANADIAN = =
FLUID NFPA y = g..ﬁ'ﬁ/
Page POWER Solutions through = = ——
) ASSOCIATION %, motion technology o P Rver i Woson toctootey Sointetors
7 2 ASSOCIATION CANADIENNE DEENEAGE FLUDE MEMBER




